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1. [A] 8k

U AN E SR BB TASE 2T B . 1,4,9, ) ST AT 0,52
255 BB

2. )8R

B n=12,i8 [0 3, KK 12=4+4+4; A H n=13,i8 [0 2,[HH 13=4+9,
3. g szag

£ n & -DIEREK
£ 3R Al — AR E
class Solution:
def numSquares(self, n):

whilen % 4 ==

n//= 4
ifn % 8 == 7:
return 4

for i in range(n + 1):
temp = 1 % i

if temp <= n:

if int((n — temp) * % 0.5) % % 2 + temp == n:
returnl + (0 if temp == 0 else 1)
else:
break
return 3
# F R
if name == "' main ':
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n = 12
print("HIMRE: ", n)
solution = Solution()

print("455 : ", solution. numSquares(n))
N g
4. sirgi R

WA : 12
ZER .3
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1. [A] 8k

Y5 — A IE BB num s F W 2 A5 R 58 47 B BOR Y num Ry 58 4 7 7 BOET AR 1A
True, 5 M]3 1] False,

2. [l

I num=16,%i 1} True,sqrt(16) =4;%5 A num=15,%iH} False,sqrz(15)=3. 87,
3. OB

£ S nun &— M ERA
23R M = — A AT R A, AR num 2 58 421 J7 #0ER [ True, 75 Ui 1] False
class Solution:
def isPerfectSquare(self, num) :
1 =0
r = num
while (r — 1>1):
mid = (1 + r) /2
if (mid * mid <= num):
1 = mid
else:
r = mid
ans = 1

if (1 * 1< num):

ans = r
return ans % ans == num
= ERE
if name == "' main ':



4 d| PythonE xisi—F2F REHRE LT 5L

num = 16

print("HIMRE : ", num)
solution = Solution()

print("453 . ", solution. isPerfectSquare(num))
Al e
4. wirgi R

WILHTE . 16
ZE . True
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Ko — MR R 2 MRRK.
[ 38 7 51

n=4,iR [ True; n=75,1& [v] False,
3. fCahsz ol

# R UTF - 8 Fii i % =
£S5 n B— B
= 1 7] True 8% # False
class Solution:
def checkPowerOf2(self, n):
ans = 1
for 1 in range(31):
if ans == n:
return True
ans = ans << 1
return False
if name == "' main ':

temp = Solution()

numnsl = 16
nums2 = 17
print(("Hj A : " + str(numsl)))
print( (" : " + str(temp. checkPowerOf2(numsl))))
print(("Hj A: " + str(nums2)))
print(("#HiH : " + str(temp. checkPowerOf2(nums2))))
4. BT
B 16
Wit True
B 17

B . False
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1. [R]85 i
S int sgrt(int o) B T IFIR ]« B .
2. [

sqri(3)=1; sqri(4)=2; sqri(5)=2; sqrt(10) =3,

3. fRaG S

# 2R H] UTF - 8 2 i % X
ESH xR DK
£ 3R AME 2 x 17 O iR
class Solution:
def sqrt(self, x):
1, r =0, x
whilel + 1 <r:
m= (r+l)//2
ifm ¥ m == x:
return m
elif m * m> x:
r = m
else:
l=m
if 1 % 1 == x:
return 1
ifr ¥ r == x:
return r
return 1
if name == ' main ':

temp = Solution()



xl =5
x2 = 10
print(("#Hij A :" + str(x1)))

(( (
print( (" " + str(temp. sqrt(x1))))
(("H A"+ str(x2)))

(( H " + str(temp. sqrt(x2))))
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1. [ A
IR Pow(ax,n) , i1 B IR Bl 2 ) n IR,
2. )5

Pow(2.1, 3)=9.261; Pow(0, 1)=0; Pow(l, 0)=1,
3. GRSz

# SR H] UTF - 8 i 4% X

2 B4 x 2 — double % i JEE 5L
#2800 B — DB R

= 3R [B{f & — )~ double 25 HI Y 2t IR
class Solution:

def myPow(self, x, n): # ¥ Python3 Wk BR T i FH"//"
ifn<O :

1//x

n= -—-n

X

ans = 1
tmp = x
whilen != 0:
ifn % 2 == 1:

ans * = tmp

return ans
if name == ' main ':
temp = Solution()
numl = 123
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num2 = 3
print(("Hy A :" + str(numl) +" " + str(num2)))
print(("#HiH " + str(temp. myPow(numl, num2))))

4. Bfr4h

HiA. 123 3
i . 1860867
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[1] 28 4 3

P @ Y0, Hod a b Fln R 32 fr AR TR
[i2] 573 451

Bt 2°' % 3=2,

3. RSBl

#Z8 a.b.n J& 32 {7 YR f B8R
# 3% [l & — 24
class Solution:

def fastPower(self, a, b, n):

ans = 1
whilen> 0:
ifn % 2 == 1:
ans = ans ¥ a $ b

[

a=a=xag%$h
n=mn/2

o

return ans % b

if name == ' main ':
a = (input("iEHIA a:"
n = int( 1nput(" A n:"
("}

B A b:"

solution = Solution()

b = int(input

print("#iH :", solution. fastPower(a, n, b))

4. iafra R
HHIA a: 2
g A n: 31
WA b: 3
B 2
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2. @Rl

ot n=5.a=[1.,1,1,2.2].k=3.3& [ 2,
3. RSBl

£ S8 n EEHA MK
=S8 a ZE AR B4
£ S8 k RN WA BORBUNT ST k 9 RUE
3R A1 75 58 AR
class Solution:
def numofplan(self, n, a, k):
sum = [0] % 1000010
cnt = [0] % 1000010
for i in range(n):
if a[i] > k:
continue
cnt[a[i]] += 1
for i in range(n):
for j in range(i + 1, n):
if a[i] * a[j] > k:
continue
sum[a[ 1] * a[j]] += 1
for i in range(1l, k + 1):
cnt[i] += cnt[i — 1]
sum[ 1] += sum[i - 1]
ans = 0

for i in range(n) :
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for j in range(i + 1, n):

res = a[i] % a[j]

if res > k:
continue

res = k // res

ans += sum[res]

if a[i] <= res:
ans —= cnt[res // a[i]]
if a[i] <= res // a[i]:

ans += 1

if a[j] <= res:

ans —= cnt[res // a[j]]
if a[j] <= res // a[j]:
ans += 1

if a[i] % a[j] <= res:
ans += 1

return ans // 6

# F R
if name == "' main ':
n=>5
a=[1,1,1,2,2]
k=3
solution Solution()

print(" & B HH ", solution. numofplan(n, a, k))

A4

fr4h

%E
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S OB A R B SR MR A B R BT B bit 19 R

i) 388 735 5]
31 Bk 14, FFERAE 24 bit fif B (31)10=(11111)2,(14)10=(01110)2,
3. fCahsz ol

£ %] UTF - 8 4 bk =X
£ 24 a.b W AEEL
£ 3R Al — A~ H
class Solution:
def bitSwapRequired(self, a, b):
c=a’"b
cnt = 0
for i in range(32):
ifc& (l<<i)!= 0:
cnt += 1
return cnt
if name == "' main ':
temp = Solution()
al = 4; bl = 45
a2 = 10; b2 = 26

print(("Hj A :" + str(al) +" " + str(bl)))
print( (" " + str(temp. bitSwapRequired(al,bl))))

(( (a
(( (

print(("#y A :" + str(a2) +" " + str(b2)))
(( (

print(("#HiH " + str(temp. bitSwapRequired(a2,b2))))
iﬁ‘ﬁ/\: 4 45
Fidh: 3
WA 10 26

. 1
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U5t T U B SRR 45 LB R K 13999
2. [

N—4,X—12. XXI—>21, XCVI—>99,

3. fRRS S

# & H] UTF - 8 4 fih % =X
228 s B—DFA
& o] — > R H
class Solution:

def romanToInt(self, s):

ROMAN = {
'I': 1,
WS,
'X': 10,
'L': 50,
'C': 100,
'D': 500,
'M': 1000

}

ifs == "":
return 0

index = len(s) - 2

sum = ROMAN[s[ —1]]
while index>= 0:
if ROMAN[ s[ index]] < ROMAN[ s[index + 1]]:
sum —= ROMAN[ s[ index] ]

else:
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sum += ROMAN[ s[index] ]
index —= 1
return sum
if name == ' main ':

temp = Solution()

stringl = "DCXXI"

string2 = "XX"

print( (" A :" + stringl))

print(("#ijH :" + str(temp. romanToInt(stringl))))
print(("#i A :" + string2))

print(("#HiH} ;" + str(temp. romanToInt(string2))))

A . DCXXI
i, 621
A XX
Hi . 20
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44—V ,12—>X[.21— XX] , 99— XCIX .

3. RSz E

ﬂ:

# R UTF - 8 i fid % =X
£ B4 num f— AR
£ 3 [ {F e — A A o
class Solution:
def parse(self, digit, index):
NUMS = {

L,

201,

3,
4 IV,
5.0V,
6: 'V[',
70\,
8: Wl

s = NUMS[digit]
return s. replace('X', ROMAN[ 'X'][index]).replace('I', ROMAN[ 'I'][ index]). replace('V'



, ROMAN[ 'V' ][ index])

def intToRoman(self, num) :

s = '
index = 0
while num != 0:
digit = num % 10
if digit != 0:
s = self.parse(digit, index) + s
num = num // 10
index += 1
return s
if name == ' main ':

temp = Solution()

intl = 56
int2 = 99
print(("HiA :
print( ("4t :
print(("HiA :
print( ("4t :

4. iafrsh

A -
i
A -
i

56
LV
99
XCIX

"+ str(intl)))
" + str(temp. intToRoman(intl))))
"+ str(int2)))
" + str(temp. intToRoman(int2))))

B10 BEEBRATTSHT P 17
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class Solution:
def sortIntegers2(self, A):
self. quickSort(A, 0, len(A) — 1)
def quickSort(self, A, start, end):
if start > = end:
return
left, right = start, end
pivot = A[int((start + end) / 2)]
while left <= right:

while left <= right and A[left] < pivot:
left += 1

while left €« = right and A[right] > pivot:
right —= 1
if left <= right:
A[left], A[right] = A[right], A[left]
left += 1
right —= 1
self. quickSort(A, start, right)
self. quickSort(A, left, end)
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£ FRs

if name ==
A=1[3,2,1,4,5]
print("WIIGELH ', B)

solution = Solution()

1 '

__main_ ":

solution. sortIntegers2(A)

print("HREHEF ', A)

4. Birgh
WIMRECA . [3.2.1.,4.5]
P HER : [1,2,3.4,5]
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2. [l
A Sl 3, B8 — 4 — 215 HIA T 4, Bl 7>8—>4>2—>1, 5K F T—>6—>3—>2—1,
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# 3R UTF - 8 i i s X
ESM 0 B IEREK
£ 3R [ 2 e /b 00 R 4 R L
& FHE AT I DFS B0k
23X AL T A 20 A
class Solution:
def integerReplacement(self, n):
memo = {}
gifn == 1:
# return 0
self.dfs(n, memo)
print(memo[n])
return len(memo[n]) - 1
def dfs(self, n, memo):
temp = []
if n in memo:
return memo[n]
ifn == 1:
temp. append(1)
memo[1] = temp
return temp

ifn % 2 == 0:



B2 #wiEK P 21

temp. append(n)
cur = self.dfs(n // 2, memo)
temp. extend(cur)
memo[n] = temp
return temp
# temp. pop()
else:
temp2 = temp.copy()
n2 = n
temp. append(n)
cur = self.dfs((n + 1), memo)
temp. extend(cur)
temp2. append(n2)
cur2 = self.dfs((n2 — 1), memo)
temp2. extend(cur?)
if len(temp) < len(temp2):
memo[n] = temp
return temp
else:
memo[n] = temp2
return temp2
if name == ' main ':

temp = Solution()

nunsl = 8
nums2 = 18
print(("#y A :" + str(numsl)))

n

(" A (
print(( H:" + str(temp. integerReplacement (nunsl))))
print(("#y A :" + str(nums2)))
(" (

:" + str(temp. integerReplacement (nums2))))

A8
[8,4,2,1]
Fidy . 3
A 18

[18,9,8,4,2,1]
Hr: 5
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L. [ i il ik

BEORANE 3 25 LB 2 A1 mod Sz FEAT 52 B A BEBOCR B L A 2R L R ] 2147483647
2. [l

25 EBEBREL 100, BR%L 9, 3& 1] 11,

3. RS

# 3R H UTF - 8 i fid s X
class Solution(object) :
def divide(self, dividend, divisor):
INT MAX = 2147483647
if divisor == 0:
return INT MAX
neg = dividend > 0 and divisor < 0 or dividend < 0 and divisor > 0
a, b = abs(dividend), abs(divisor)
ans, shift = 0, 31
while shift >= 0:
if a>= b << shift:
a —= b << shift
ans += 1 << shift

shift —= 1
if neg:
ans = — ans

if ans > INT_MAX:
return INT_MAX

return ans

if name == ' main ':
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temp = Solution()

x1l = 100

x2 = 10

print(("#y A "+ str(xl) +" "+ str(x2)))
print( (" " + str(temp. divide(x1,x2))))

4. isfras
A 100 10
iﬁﬁﬂj: 10
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%Aﬁ/\ a:19b229mll+ll 33 ﬁﬁ/\ azflabzlyﬁfﬁ 0,
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# % UTF - 8 Zi i 4% =X
4 B8 a SR
5 BH b R
# 3R A& a Al b I
class Solution:
def aplusb(self, a, b):
while b!=0:
a,b = (a"b)&Oxffffffff, (a&b)<<1
return a

' main :

if name ==
temp = Solution()
numsl = 8
nums2 = 18
print( ("Hi A :" + str(numsl) +" " + str(nums2)))
("%

print( H " + str(temp. aplusb(numsl, nums2))))

4. Birgh R
BWiA:8 18
i 26
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2. [l

1.2.3, 40,3100 19, BIEHE 1.2 5 JF . 4 A8 3 et B N[3.4.3].5E# 3.3 &
I AE 65 BAENL6.4 . T WA BA I AR 10, — L3 FE 19, 4 ifi[2.8.4.1].3& 1
25, R H% 1.2 & 0F . A€ 3 fedt; BUAE M[8.4.3 . Bb 4 3.4 A IF. WAL 7. BUZE ML 7.8 ]
THRABCA I IHEE 15, — LT AE 25 B

3. fCa S

# 2Rk H UTF - 8 St s =X
# 28 nunbers fRR T F 4=
£ 3R [AME 2 /N 1Y R B TH AR
import heapqg
class Solution:
def mergeNumber(self, numbers) :
Q=11
ans = 0
for i in numbers:
heapq. heappush(Q, 1)
while(len(Q) > 1):
a = heapq. heappop(Q)
b heapq. heappop(Q)
ans = ans + a + b

heapq. heappush(Q, a + b)
return ans

if name == ' main :

temp = Solution()
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4.

Listl = [1,2,3,4,5]

List2 = [6,7,8,9,10]

print(("Hy A :" + str(Listl)))

print(("#HiH} " + str(temp. mergeNumber(Listl))))
print(("Hy A :" + str(List2)))

print(("#yH " + str(temp. mergeNumber(List2))))
isfrai Rk

WA [1,2,3,4,5]
By 33
WA [6,7,8,9,10]
i 93
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"O"HIWr A True," 0.1 "HIWr K True,"abe"#I Wk False,"1 a"H|Wr & False,"2e10" |
W& True,

3. RS

# %] UTF - 8 4 ib ik =X
£ 58 s B—AFA
£ 3R [l — A5 SR AE
£ AT IR (1 2 1k
class Solution:
def isNumber(self, s):
INVALID=0; SPACE=1, SIGN=2; DIGIT= 3; DOT =4, EXPONENT =5,
H0 BTN, 1254, 2 755, 3 07, 4 /N, 5 F8 4K 6 S A LT
transitionTable=[[ -1, 0, 3, 1, 2, - 1], 2RE 0 RBEAMASE ESHK
1,8, -1,1,4,5], £RE 1A RETE
-1, -1, -1, 4, -1, 1], #WR& 2 RFATH AT DA /DS
-1, -1, -1,1,2, -1], £RE 3RS
1,8 -1,4, -1, 5], FRA 4 RRBFH AT A /DS
1, -1,6,7, -1, -1], #KRESHAXRMARZ ¢ BFH E
-1, -1, -1, 7, -1, -1], #RE 6 RBEFSZEHA e
-1,8, -1,7, -1, -11, #REBFTRREHFFEZFmA e
-1,8, -1, -1, -1, —1]1 2R3 8 fURTEH A A BRI A JS iy A 4%

’ ’

state=0; 1=0
while i< len(s):
inputtype = INVALID
if s[i] =="'"': inputtype = SPACE
elif s[i]=="'—-"'or s[i]=="'+"': inputtype = SIGN
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elif s[i] in '0123456789"': inputtype = DIGIT
elif s[i] =="'."': inputtype = DOT
elif s[i] =="'e' or s[i] == "'E': inputtype = EXPONENT

state = transitionTable[ state][ inputtype]
if state== — 1: return False
else: 1+=1
return state == 1 or state == 4 or state == 7 or state ==

if name == ' main_ ':

temp = Solution()

stringl = "1"

string2 = "23"

print(("#j A :" + stringl))

print(("#yH " + str(temp. isNumber(stringl))))
print(("#i A :" + string2))

print( (" " + str(temp. isNumber(string2))))

LN
Wi, True
A 23
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AN SR — > B A i K U B B A SRR B AR AR Y 1L N 5 (R R O 101)

SERR R AFJZ 6C R0 110) R FRBEL AWK 24 th— 1 b K F 8% F 0 1
CUNT
2. [ R B

i n=6.1R [n] 8, HIF — B EURE 85 43t n=4. & [B] 4. BITF — DMREEUE 45 4
n=38, & [a] 40, B R — i B 405 43 n=44 3% [0] 64, BITF — N B AU 64

3. Uz

% I UTF - 8 4T fi =
2 SRR
# 3% [l x J5 T 8 R — TR B AL
class Solution:
def nextSparseNum(self, x):
b x = bin(x)[2:]

pos = self.find highest continue one(b_x)
while pos != —1:
if pos == 0:
bx = "1" + "0" % len(b x)
else:

bx =bx[:pos — 1] + "1" + (len(b x) — pos) » "0"
pos = self.find highest continue one(b x)
return int(b x, 2)

def find_highest_continue one(self, s):

n = len(s)
for i in range(n - 1):
if s[i] == s[i + 1] == "1":

return i
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return — 1

if name == '

' main
temp = Solution()
numsl = 16

nums2
print " + str(numsl)

nums2)))

(
print(
print(

(

("HyA (
("% " + str(temp. nextSparseNum(numsl))))
("HA "+ str(
(" (

print " + str(temp. nextSparseNum(nums2))))

4. iafrdl

A 16
Wi, 16
A 50
By . 64



